Ch.3
p 8!

/[ V= 2.5 0

4
3 "2
= 3.0 210 k/s

3 1 N,N.,: /4 OOO

Agirgn = 142

. 200 B
L As
V= ;, = 3. 00 x;b ufs
/vﬁ 156 % 10 m/ / T
\/an—; c 3 00 X (;““'I[ i s e ]
Vz:r = /5'6 )‘lo_gt“-w/&~ I )
7he dieveose 3.6’0)(:02& ;—7,6 )(rog», <
163 V=& = 2.00 xei)s
n 146
V=208 xio® nfe N
t = __fl_' B _M )‘M/ ] )
4 205 y10°, ,« Ll
Zt 4,83 uot s / i ir 1
|
|

) A




P gl

&

7.

] R&htj“;u—( &M | ‘;'\,.92 = "

When the Agk(’ r

spbhcal
55%/\4( M@Jcm) Y\‘>
TM?%we, NS, =
A

)
n,: /»50 hz = /.36

=

DRk
- ,
75:17% m
M “ - ]
ps .
n, ‘
4 |
W" ‘/ez 7,}\-?—
o, N, F
(A/'
el




